43012180 HANSARONDA Style - Wastafelkraan

EAN: 4015474105447
statichansa.com/43012180

Reserveonderdelen
SP43012180
Naam Code
1 Hendel Chroom 43890005
1 Hendel Chroom 59913774
1 Hendel Chroom 43880003
11 Schroef, M5x8, SW2.5 59904755
12 Joint klassiek uitloop 59904778
13 Sierdop Grijs 59912112
2 Kap Chroom 59912797
3 Schroef, M42x1, SW34 59912798
4 Binnenwerk , 4.0 Classic 59912791
4. Temperature adjustment limiter 59912799
51 Trekstang Chroom 59912804
52 Gewrichtstuk 59904624
53 Dichting, 37x48x3.5 59911422
55 Fixing plate 59904765
5.6 Schroef, M8x1, SW13 59904766
57 Bevestigingsset 59910749
58 Pijp 59912816
6 Uitrekbare bek Chroom 59912814
6.1 Mousseur, M24x1 STD HC A Chroom 59902366
6.2 Mousseur, M22/24 A 59902081
7 Slangen, L=1200, M15x1 59912815
71 0-ring, d 16x2 59906703
72 Doorvoernippel 59911625
73 Dichting, 9.5x14.4x2 59912551
74 Retainer 59906600
75 Terugslagklep 59905714
76 Nippel 50912074
8 Wastegarnituur Chroom 59911441
NI Sleutel, SW30/34 59912108
NI Terugslagklep, M16x1/M14x1 59913418

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024


https://static.hansa.com/43012180

